

MAHATRANSCO E TENDER NOTICE

MSETCL invites online bids (E Tender) from registered contractors / agencies on Mahatransco E-Tendering website http://srmetender.mahatransco.in for following works.

Tender No:- SEC/EHV/CCCM/Circle/Pune/T-18/2022-23 RFX No.7000026695 (Extension in sale period)

Name of Work:- Construction of RCC Retaining wall at location of 220 K.V. Ranjangaon – Lonikand-I & 220 K.V. Ranjangaon-U Sugar D/C line under EHV line Maintenance S/Dn. Manchar

Tender Amount: - Rs.43,08,881.67 EMD Amt :- Rs.44,088.82 Tender Fees: - Rs. 500 /- + GST

Download of tender documents:- From Dt.17.03.2023 (From 11:00Hrs)

Upto Dt.28. 03.2023 (up to 11:00 Hrs.)

Technical Bid Opening:- Dt. 28.03.2023 at 12:00 Hrs (if possible) & **Commercial bid opening**:- Dt. 29.03.2023 at 12:00 Hrs (if possible)

For further details visit our website $\frac{\text{http:// srmetender.mahatransco.in}}{\text{downloading tender document, schedules, and annexures.}}$ for

Superintending Engineer (Civil) EHV C.C.C.M. Circle, Pune



Tender for Operations and maintenance

Information

RFx number:

7000026695

Publication:

Public RFx

Version:

1

RFx Name:

Const. of RCC Retain. wall 220kv Ranjangao

Tender Subject:

CONSRTUCTION OF RCC RETAINING WALL AT LOCATION NO.45 OF

220KVRANJANGAON- LONIKAND-I & 220KV

Bid Submission:

28.03.2023

Funded By:

Tender Fee Inc. GST:

590.00₹

Estimated Cost:

4,308,881.67 ₹

Basis of Prices:

Percent Based Bid:

Yes

EMD Cost:

43,088.82 ₹

Tech Bid Open:

28.03.2023 12:00:00

Price Bid Open:

29.03.2023 12:00:00

Contact Person:

MR. SUNIL SHIKNIS, THE EXECUTIVE ENGINEER (CIVIL), EHV CCCM CIRCLE

PUNE. MOB NO. 7030964792

Additional Requested Information:

Do you have attached a Valid Certificate of Registration of appropriate class for Civil works from PWD/MES/Railways/JeevanPradhikaran/MAHAGENCO/ MAHATRANSCO / MAHADISCOM/Semi Govt. & Central Government?

Do you have attached a PAN?

Do you have attached GSTN Registration Certificate?

Do you have attached Statement of Current Net worth for an amount equal to 25% of the estimated cost of work duly certified by Chartered Accountant?

Do you have attached Average Financial Turn-over during the last three years ending 31st March of previous financial year should be at least 30% of the estimated cost?

Do you have attached Certificate of Experience for execution of Civil works?

Do you have attached E.P.F. Registration Certificate -issued by competent Authority of Govt.?

Do you have attached Solvency Certificate of Nationalized / scheduled Bank equivalent to an amount not less than 25 % of the estimated cost?

Attachments:

- TENDER DETAIL SCHEDULE B
- TENDER DETAIL TENDER DETAILS
- APPROVAL

Tender for Operations and maintenance



Information

RFx number: 7000026695

Version: 1

RFx Details:

(*Amount in ₹)

Item	Item category Product no.	HSN/SA C No.	Description	Qty	Unit Rate	Amount
1	Outline	995423	RCC wall L.No.45 at 220KV Ranjangaon.	1.000 AU		4308881.67
1.AA	Service 50013068	995433	Excv in Soil, lift upto 1.5m for fdn	108.000 m ³	259.03	27975.24
1.AB	Service 50013069	995433	Excv in HM lift upto 1.5m for fdn	269.000 m ³	456.75	122865.75
1.AC	Service 50014038	995433	Excv in Soft Rock lift 1.5-3m for fdn	108.000 m ³	536.84	57978.72
1.AD	Service 50013073	995433	Ex fdn in HR by chlg lift upto1.5m	54.000 m ³	1635.56	88320.24
1.AE	Service 50013078	995433	Prov dry t.rbbl soling+hand pckg & compn	10.000 m ³	2442.02	24420.20
1.AF	Service 50013153	995454	P&C CC M20 for RCC raft, fnd excl reinf	59.000 m ³	9661.65	570037.35
1.AG	Service 50013174	995454	P&C RCC M20 Pardi 75mm tk excl. reinf Providing and laying Cast in situ/Ready Mix cement concrete in M-20 of trap/ granite/ quartzite/ gneiss metal for R.C.C. pardi of required thickness including steel centering, formwork, cover blocks, laying/pumping, compacting, curing, finishing and rougheningthem if special finish is to be provided and curing complete.(Excluding reinforcement and structural steel).with fully automatic micro processor based PLC with SCADA enabled reversible Drum Type mixer/ concrete Batch mix plant (Pan mixer) etc. complete. With fine aggregate (Crushed sand VSI Grade)	73.000 m ³	20252.16	1478407.68
1.AH	Service 50013188	995456	II class BBM in CM 1:6 in superstructure	2.000 m ³	10824.68	21649.36
1.AJ	Service 50013075	995433	Filling plinth & floor wt exc material	348.000 m ³	150.17	52259.16

Tender for Operations and maintenance



Information

RFx number: 7000026695

Version: 1

Item	Item category Product no.	HSN/SA C No.	Description	Qty	Unit Rate	Amount
1.AK	Service 50005033	995423	Rubble filling hand packing filling sand Providing and laying of filter media with granular materials/ stone crushed aggregates satisfying the requirements laid down in clause 2504.2.2 of MoRTH specifications to a thickness of not less than 600 mm with smaller size towards the soil and bigger size towards the wall and provided over the entire surface behind abutment, wing wall and# return wall to the full height compacted to a firm condition as per drawing and technical specifications etc. complete.	56.000 m ³	1516.69	84934.64
1.AL	Service 50013946	995462	P&L 100mm Ø AC pipe weep hole	20.000 RMT	667.00	13340.00
1.AM	Service 50014195	995435	Disposing off exv. material upto 10km	215.000 m ³	315.63	67860.45
1.AN	Service 50017911	995428	P&L in situ CC M10 (1:3:6)	71.000 m ³	8116.88	576298.48
1.AP	Service 50013182	995454	P&F Steel Bar Reinf. TMT for RCC Pile	10.000 MT	112253.44	1122534.40

(*Unit Rate mentioned is inclusive of all taxes)

Tender for Operations and maintenance



Information

RFx number: 7000026695

Version: 1

Annexure - I

(* NR is for Invalid Condition)

Item	Product No.	HSN/SAC	GST App. in	Item type	Conditions*
1	MET TO THE	995423	18	Е	
1.AA	50013068	995433	18	E	EXW,
1.AB	50013069	995433	18	E	EXW,
1.AC	50014038	995433	18	E	EXW,
1.AD	50013073	995433	18	Е	EXW,
1.AE	50013078	995433	18	Е	EXW,
1.AF	50013153	995454	18	Е	EXW,
1.AG	50013174	995454	18	Е	EXW,
1.AH	50013188	995456	18	Е	EXW,
1.AJ	50013075	995433	18	Е	EXW,
1.AK	50005033	995423	18	Е	EXW,
1.AL	50013946	995462	18	Е	EXW,
1.AM	50014195	995435	18	Е	EXW,
1.AN	50017911	995428	18	Е	EXW,
1.AP	50013182	995454	18	Е	EXW,

(* PFQ -> Packing and Forwarding Per Quantity

FRQ-> Freight Per Quantity

FR%-> Freight in Percentage,

EXW -> Ex-Works (Basic Price), PFP-> Packing and Forwarding in Percentage, INQ-> Insurance Per Quantity,

INP -> Insurance in Percentage, DISCQ-> Discount Per Quantity, DISCP->Discount in Percentage)